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44+6)x3
9% & +2)><

+8x% (6+244+2)=142(cm?)




11, the 2T e 97159 Aol

@ (50 + 457)cm? @ (60 4 30m)cm?
® (60 + 547)cm? (@)(72 + 457)cm?

® (72 + 54m)cm?

(6% 12) + (3w x 12) + (7 x 3%) = 72 + 457 (cm)




12. g I 22 AP Fyols Tojelel.

4158

gro] FAEo|ER
o o

45
§ =2 412
X0 3500 T 1T 3600
+2x6x10
= 9 + 157 + 120
= (247 + 120)cm?

x 10




13. o= 9Eo WHEE B, A& ol dE2 ZuHols &A
= g2 2 227

® 20mcm?, 40mcm? @ 247mcm?, 20mcm?
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(¥7159] Fo) = (ZE] H1]) x 3 = 157 x 3 = 457(cm?)




21. A=A e 2yol7t s4em? A wf, oF A o] Hol=?

@ 1lem @ 2cm @3cm @ 4cm ® 5cm
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